Seminoma of the testes:

Has teratomatous components

Is frequently necrotic and hemorrhagic

A Reactive lymph node:

Can be due to antigen in the subcutaneous layers

Proliferation of cells can be autoimmune

Proliferation of cells continue with removal of the stimulus

Cause a monoclonal proliferation of cells

Lymphoma: 

Can produce a lot of immunoglobulin that is monoclonal.

Hodgkins lymphoma:

Is of B cell origin.

Has characteristic skipped nodal involvement 

Is usually highly malignant

Is curable

Pyogenic osteomyelitis:

Is caused by mycobacterium F

Commonly occurs in the diaphysis of bones

Histologically shows neutrophils and dead bone cells

May cause pathological fracture

Osteoporosis

Is a common cause of kyphosis

Is a cause of lower vertebral compression fracture

Causes thin bones with normal mineralization

Has a thickened osteoid

To test for Cushing’s the following tests can be used:

Dexamethosone suppression test

ACTH stimulation test

Insulin tolerance test

Insulin suppression test

The insulin tolerance test can be used to test for regulation of the following hormones:

TSH

Cortisol

ACTH

Prolactin

FSH

A low serum TSH is found in:

central hypothyroidism

primary hypothyroidism

non-thyroid diseases

pregnancy

Prostate cancer:

Is frequently periurethral

Is commonly squamous carcinoma

PSA is an important marker

Frequently metastases to the vertebrae

Can be suppressed by administering androgens

Gynaecomastia can be caused by:

Cirrhosis

Testicular cancer

Hypoprolactinemia

Klinefelter’s syndrome

A complete mole:

Has fetal components

Is often triploid

Has normal placenta components

Does not predispose to choriocarcinoma

Results in increased amount of alpha fetoprotein

Leiomyoma

Often results in uterine bleeding

Has a high mitotic rate

Is commonly multiple

Responds to changes in female hormone levels

Occurs in adolescent women

On ovarian tumours:

Cystic teratoma is the most common germ cell tumour

Tumours arising from surface epithelium of the ovaries are always unilateral

Fibrocystic change:

Is the most common problem of the female breast

Is characterised by fibrosis, cyst formation and apocrine metaplasia

On Diabetic nephropathy:

There is thickening of basement membrane of the glomerulus

Is often related to other forms of microangiopathy

IgG can be found in the basement membrane

Nephrotic syndrome resolves in a few days

Red blood cell casts can be found in the urine

On glomerular diseases:

There may not be a change in the histological appearance under light microscope

There may be immune complexes deposited on the glomerulus.

Nephrotic syndrome is characterized by proteinuria of 1-3g/day

A young couple with no known history of disease had a child with a median cleft palate and cleft lip:

The possibility of having another child with the same condition is very low

The probability of having a second child with a cleft lip is 25%

The main cause is probably exposure to teratogens

The following genetic disorders are due to trinucleotide repeats:

Fragile X (FRAXA)

Duchenne Muscular dystrophy

Spino cerebellar ataxia (SBMA)

Spinal muscular atrophy type 1 (SMA1)

PWS and AS:

Both genetic disorders resulting in mental retardation

Commonly caused by deletions in chromosome 15

Both can be caused by uniparental isodisomy in chromosome 15

Chromosome 15 is an imprinted chromosome

Can be caused by point mutations on chromosome 15

The following predispose to an increased risk in having a child tt’s abnormal:

Alcoholism by the mother during the 1sttrimester

A 35 yr old woman with one spontaneous abortion

A woman with 3 spontaneous abortions

A man with a 2nd cousin having a chromosomal abnormality

On mitochondrial DNA abnormalities:

They have heterogenous presentation due to the different levels of mitochondria involved

Mothers can pass it on to their sons

Fathers can pass it on to their daughters

Mitochondria DNA code for both cytoplamic and mitochondrial proteins

About genetics:

Correlation studies can be used to test for familial aggregation. 

We can infer indirectly from the heritability the relative non-genetic causes of a disease

A disease with aggregation in families indicates a genetic cause

Gene-gene interactions can cause different expression of a gene disorder

Knowing the gene defect and environment we can intervene to prevent the serious consequences of a disease.

The following are indicated for fetal testing:

Family planning to determine the sex of a child

Finding out the paternity of the fetus

Having a previous child with a chromosomal abnormality

Having a previous child with a single gene disorder

Retroviral vectors:

Are useful for inserting DNA fragments >30kb in size

May potentially initiate inflammation and host reaction

Are made by removing all the viral DNA including the packing signal and inserting the vector DNA

The packaging constructs are added in trans to the cell line

The inserts remain outside the nucleus

SCID due to ADA deficiency can be potentially treated by:

adding a cytokine gene to target the ADA gene

inserting a ribozyme targeting the ADA gene

bone marrow transplant.

giving ADA-PEG

using an adenoviral vector to insert the ADA gene

Genetically engineered vaccines:

Can be used to treat cancer

Are given ex vivo

Can be used to treat recessive disorders such as thalessemia

Are made by adding a DNA segment to attenuate the virus so that it is less infective.

Can be made more antigenic by adding a cytokine gene to the antigen

Pots:

Slide of acute appendicitis

A boy presented with abdominal pain

What is your diagnosis?
What pathological mechanism does this slide reflect?

What histological features can be seen?

What is the most common clinical feature if the problem is not resolved?

Leiomyoma

A woman present with vaginal bleeding.

What are the 3 most important differential diagnoses a doctor should have?

What is your diagnosis?

List 3 complications that can result from this problem.

Slide of Chronic venous congestion of liver

A 60 yr old man has a history of uncontrolled hypertension and breathlessness. On autopsy the following was found.

What is the patient suffering from?

What are the main histological features?

Link the pathology with the presenting symptoms.

Hydronephrosis due to kidney stone

What is the pathology shown?

Describe the specimen grossly.

List 3 causes that can result in this problem.

Lung with TB

What is your diagnosis?

Describe the specimen grossly.

What are the presenting histological features?

How would you confirm the histological features?

Brain hemorrhage

What is the diagnosis?

Describe the gross appearance of the specimen.

List 2 causes for the problem shown.

What are the presenting symptoms?

Myocardial infarction

A 45yrold man present with chest pain and was admitted to hospital ICU. He died 3 days later.

What is the diagnosis?

What histological features can be seen?

List 3 complications that might arise when the man was in the ICU.

Colon cancer

What is your diagnosis?

Describe the gross morphology shown.

How will the patient present?
